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double rho goOooon

double gamma oodooooooooooo
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ooog

B =0.7;
band2 = Import["./data/band2M0.050.dat", "Data"l;
psud2 = Import["./data/psud2M0.050.dat", "Data"l;
band3 = Import["./data/band3M0.050.dat", "Data"l;
psud3 = Import["./data/psud3M0.050.dat", "Data"];
band4 = Import["./data/band4M0.050.dat", "Data"l;
psud4 = Import["./data/psud4M0.050.dat", "Data"l;
band5 = Import["./data/band5M0.050.dat", "Data"l;
psudb = Import["./data/psud5M0.050.dat", "Data"];
fc2 = Interpolation[psud2];
fc3 = Interpolation[psud3];
fc4 = Interpolation[psud4];
fc5 = Interpolation[psud5];
01 = ListPlot3D[band2, InterpolationOrder -> 3,
PlotRange -> {Full, Full, {-1.1, 1.1}}, AspectRatio -> 1,
ColorFunctionScaling -> False, AxesOrigin -> {0, 0, 0},
AxesLabel -> {"", "", ""} Ticks -> None, Mesh -> None,
Boxed -> False,
ColorFunction -> (ColorData[{"TemperatureMap", {-B, B}}][fc2[#1, #21]1 &)1;
02 = ListPlot3D[band3, InterpolationOrder -> 3,
PlotRange -> {Full, Full, {-1.1, 1.1}}, AspectRatio -> 1,
AxesLabel -> {"kx", "ky", "E"}, ColorFunctionScaling -> False,
Mesh -> None,
ColorFunction -> (ColorData[{"TemperatureMap", {-B, B}}] [fc3[#1, #2]1] &)];
03 = ListPlot3D[band4, InterpolationOrder -> 3,
PlotRange -> {Full, Full, {-1.1, 1.1}}, AspectRatio -> 1,
AxesLabel -> {"kx", "ky", "E"}, ColorFunctionScaling -> False,
Mesh -> None,
ColorFunction -> (ColorData[{"TemperatureMap", {-B, B}}] [fc4[#1, #2]] &)];
04 = ListPlot3D[band5, InterpolationOrder -> 3,
PlotRange -> {Full, Full, {-1.1, 1.1}}, AspectRatio -> 1,
AxesLabel -> {"kx", "ky", "E"}, ColorFunctionScaling -> False,
Mesh -> None,
ColorFunction -> (ColorDatal[{"TemperatureMap", {-B, B}}] [fc5[#1, #2]1] &)1;
Show[01, 02, 03, 04]

eigensystem.c

oooooooooooobooooooo,0oooo0,00o00ooo0oooOooOOoOOoOooon
0000000000 eigensystemofp.cOUO0ODOONO
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